

۱- $a-d$ و a و $a+d$ از شرط مجموع ۲۱: $a+(a+d)=21+(a-d)$ $3a=21$
 $a=7$
 حاصل ضرب ۶۴: $a \times (a+d) = 6 \times (a-d) \rightarrow a(a^2-d^2) = 6 \times 4$
 $7 \times d^2 = 6 \times 4 - 49 \times 7$ $d^2 = 279$ $d = \sqrt{279}$ d گویا نیست
 $3a+3d=21 \rightarrow a+d=7$ $a(a+d)(a+2d)=64$
 $a \times 7 \times (a+2d)=64$; $a+d=7$ $d=7-a$

$d=7-a$ پس $a \times 7 \times (a+2(7-a))=64$ $a \times 7 \times (14-a)=64$
 $98a-7a^2=64$ $7a^2-98a+64=0$ $9+4+44=21, 4$ پس
 $4+44=14, 4$
 $4 \times 4=16, 4$
 $4 \times 4-14 \times 4+4=0$
 $4 = \frac{14 \pm \sqrt{14^2-4 \times 4}}{2} = \frac{14 \pm \sqrt{156}}{2} = \frac{14 \pm 12.5}{2}$
 $4=4$

۲- $(x^2)^2 = (x^2+c)(x^2-2)$ $cx^2 = x^4 - 2x^2 + cx^2 - 1$
 $cx^2 = x^4 + 2x^2 - 1$ $x^4 - 2x^2 - 1 = 0$ $y = x^2$ متغی
 $y^2 - 2y - 1 = 0$ $y = 4$ $y = -2$ $x = \pm 2$, $x^2 = 4$ چون $y = x^2 \geq 0$ پس
 برابر $x=2$ $a_1 = 4+c=1$ $a_2 = 4$ $a_3 = 2$ $q = \frac{1}{4}$

برابر $x=-2$ $q = -\frac{1}{4}$
 $a_1 = 1$ $a_2 = -4$ $a_3 = 2$
 $S_V = a_1 \times \frac{1-q^4}{1-q} = 1 \times \frac{1-(\frac{1}{4})^4}{1-\frac{1}{4}} = 1 \times \frac{1-\frac{1}{256}}{\frac{3}{4}} = 1 \times \frac{127}{768}$
 $S_V = 1 \times \frac{127}{768} \times 2 = \frac{127}{384}$

$\frac{1-q^5}{1-q} = \frac{121}{11}$ $11(1-q^5) = 121(1-q)$ $11-11q^5 = 121-121q$
 $-11q^5 + 121q - 110 = 0$ $11q^5 - 121q + 110 = 0$

آغاز $q = \frac{1}{4}$
 $1 + \frac{1}{4} + \frac{1}{16} + \frac{1}{64} + \frac{1}{256} = 1$ $\Rightarrow a_1 = 256 - a_2 = 256 \times \frac{1}{4} = 64$ $a_3 = 16 \times \frac{1}{4} = 4$
 $256 \times \frac{1}{4} = 64 - a_4 = 64 \times \frac{1}{4} = 16$
 $S_{\infty} = a_1 \frac{1-q^{\infty}}{1-q} = 256 \times \frac{1-\frac{1}{256}}{\frac{3}{4}} = 256 \times \frac{255}{768} \times \frac{4}{3} = 363$

۳- $a_1=1$ $a_V = a_1 + S_d$ $S_d = 64$
 $a_V = 64$ $A = a_1 + S_d = 1 + 64 = 65$ $B = 1 + 64 = 65$ $A+B = 130$
 $a_V = 128 \times 4^S$ $4^S = 64$ $128 \times 4^S = 128 \times 4^3 = 128 \times 64 = 8192$
 $32, 5 + 1 = 37, 5 = A+B$
 جواب

$$a_1 = -24, a_2 = -\frac{9}{4}, d = a_2 - a_1 = 0.25$$

$$a_{101} = a_1 + 100d = -24 + 100(0.25) = 21$$

$$-24 + 25 = 1 \quad a_{101} = 21$$

$$c_n = 1 \quad c_1 = 128$$

جبرهای هندسی برای $c = 1$

$$c_n = b_1 r^n = 128 r^n = 1 \quad r = (r^{-1})^{\frac{1}{n}} = r^{-1} = \left(\frac{1}{r}\right) = \frac{1}{2}$$

مقدار نسبت $r = \frac{1}{2}$

$$a_n = a_1 + (n-1)d \quad (a_n)^2 = a_2 \times a_{n-1} \quad a_2 = a_1 + 2d$$

$$a_2 = a_1 + 2d \quad a_2 \times a_2 = a_1 + 2d \quad (a_1 + 2d)^2 = (a_1 + 2d)(a_1 + 2d)$$

$$a_1^2 + 4a_1d + 4d^2 = a_1^2 + 4a_1d + 4d^2$$

$$a_1^2 + 4a_1d + 4d^2 = a_1^2 + 4a_1d + 4d^2$$

$$a_1 + 10d = 0 \Rightarrow -\frac{a_1}{10} = d = 0$$

$$a_n = a_1 + (n-1)d \quad a_2 = a_1 + d \quad a_3 = a_1 + 2d \quad a_4 = a_1 + 3d$$

$$(a_2)^2 = a_3 \times a_4 \quad (a_1 + d)^2 = (a_1 + 2d)(a_1 + 3d)$$

$$a_1^2 + 2a_1d + d^2 = a_1^2 + 5a_1d + 6d^2$$

$$\rightarrow -3a_1d + 5d^2 = 0 \quad d \neq 0 \quad d = a_1$$

$$a_n = a_1 + (n-1)d = a_1 + (n-1)a_1 \quad a_1 = na_1 \quad a_2 = 2a_1 \quad a_3 = 3a_1$$

$$b_1 = \frac{1}{r} \quad b_2 = a_2 = 2a_1 \quad b_3 = a_3 = 3a_1 \quad \frac{b_2}{b_1} = \frac{b_3}{b_2} = r$$

$$r = \frac{b_2}{b_1} = \frac{2a_1}{\frac{1}{r}} = 2a_1 \quad a_1 = \frac{1}{r} \quad r = 2a_1 = 2$$

$$b_n = b_1 \times r^{n-1} \quad b_{10} = \frac{1}{r} \times r^9 = \frac{1}{2} \times 512 = 256 \quad b_{10} = 256$$

$$b_1, b_2 = b_1 r, b_3 = b_1 r^2$$

$$3b_2 \times 2b_3 = 2b_2 \times 3b_3 \Rightarrow 6b_2b_3 = 6b_2b_3$$

$$2 \times (2b_1 r^2) = 3b_1 r + b_1 r^3 \quad 4r^2 = 3r + r^3 \quad r^3 - 3r + 4 = 0$$

$$\Rightarrow r(r^2 - 3r + 4) = 0 \quad r = 0 \quad r = 3 \quad r = 4$$

$$d = a_2 - a_1 = \frac{1}{r} - 2 = \frac{1}{4} - 2 = -\frac{7}{4} \quad a_n = 2 + (n-1)\left(-\frac{7}{4}\right) = 2 - \frac{7(n-1)}{4}$$

$$a_2 = 2 - \frac{7}{4} = \frac{1}{4} \quad a_1 = 2 - \frac{7}{4} = \frac{1}{4} \quad a_1 r = 2 - \frac{7}{4} = 2 - \frac{7}{4} = -\frac{1}{4}$$

$$\frac{a_2}{a_1} = \frac{a_3}{a_2} = r \quad d = a_2 + p = \frac{1}{4} + p \quad \left(\frac{1}{4} + 4\right)\left(\frac{1}{4} + p\right) \times$$

$$r = T_1 = a_1 r + C - \frac{1}{r} = -1 - \frac{1}{4} = -\frac{5}{4} \quad C = -1 + r = 3$$

$$t_2 = a_1 + \frac{1}{r} = \frac{1}{4} - \frac{1}{4} = -\frac{1}{4} \quad \frac{r_2}{r_1} = \frac{-\frac{1}{4}}{-\frac{5}{4}} = \frac{1}{5} = \frac{1}{5}$$

$$b_2 = b_1 r \quad b_3 = b_1 r^2 \quad b + b_2 + b_3 = r^3 \quad a_2 = a_1 + d = b + d = b_2 = b_3$$

$$\Rightarrow d = b_2 - b = b(r - 1) \quad a_2 = a_1 + d = b + d$$

$$b(r - 1) = b + d \quad b(r - 1) = b + d \quad b(r - 1) = b + d$$

$$b(r - 1) = b + d \quad b(r - 1) = b + d \quad b(r - 1) = b + d$$

$$b(r - 1) = b + d \quad b(r - 1) = b + d \quad b(r - 1) = b + d$$

$$x = \frac{a - v}{r} = 1 \Rightarrow r = 1 \quad b(1 + r^2 + r^3) = r^3 \quad a_1 = b = 1 \quad a_2 = b_2 = b_3 = 1$$

$$x = \frac{a - v}{r} = 1 \Rightarrow r = 1 \quad b(1 + r^2 + r^3) = r^3 \quad a_1 = b = 1 \quad a_2 = b_2 = b_3 = 1$$

$$x = \frac{a - v}{r} = 1 \Rightarrow r = 1 \quad b(1 + r^2 + r^3) = r^3 \quad a_1 = b = 1 \quad a_2 = b_2 = b_3 = 1$$